अखिल भारतीय आयुर्विज्ञान संस्थान,रायपुर (छत्तीसगढ़)



All India Institute of Medical Sciences, Raipur (Chhattisgarh)

Tatibandh, GE Road, Raipur-492 099 (CG) www.aiimsraipur.edu.in

Date: 01/03/2017

No.54 (8017) SE/AIIMS/RPR/2016-17/NIQ-19/

NOTICE INVITING QUOTATIONS

Sealed Item Rates quotations for the below mentioned work are hereby invited by the undersigned from approved and eligible Contractors/Firms/Individuals/Supplier having TIN/ relevant documents and should be submitted to office of Project Cell, Hospital Administrative Block, Gate No-1, AIIMS Raipur up to 3:00 pm on 8th March 2017. The right to reject any or all the quotations without assigning any reasons thereof shall rest with undersigned. The quotations will be opened on the same day at 3:30pm. As per detailed below:-

Sl No	NAME OF WORK	EST. COST in	E.M.D in ₹	TIME
		₹		
1	Supply and Commissioning of Photo luminescent (glow in the dark) signage and marking tapes of fire safety and emergency escape at AYUSH & PMR buildings at	488551	Nil	20 Days
	AIIMS, Raipur			

SCHEDULE OF QUANTITY

S1.	Description of items	Quantity	Rate	Unit	Amount
	As PEI	R SHEET ATTAC	CHED	• • • • • • • • • • • • • • • • • • • •	• • • •

Conditions:

- 1. Rate should be quoted inclusive all taxes (Nothing to be paid extra on this account). Percentage / Quantum of Tax shall be mentioned.
- 2. F.O.R. Project Cell, Hospital Administrative Block, Gate No-01, AIIMS Raipur.
- 3. One month warranty from the date of supply or as per manufacturer which is more & damages during transportation to be liable to contractor.
- 4. The supply will be taken as per mentioned make on schedule of quantity i.e. as per specification.
- 5. Delivery Schedule within 15 days from the date of issue of WO.
- 6. LD @ 0.5% of WO value per week will be deducted for delay of supply of material subject to maximum up to 10% of WO value.
- 7. The right to reject any or all the quotations without assigning any reasons and accept full or part of Quotation thereof shall rest with undersigned.
- 8. Copy of VAT/CST registrationshould be attached with quotation.

(Signature of Contractor)

SCHEDULE OF QUANTITY

Name of Work: Supply and Commissioning of Photo luminescent (glow in the dark) signage and marking tapes of fire safety and emergency escape at AYUSH & PMR buildings at AIIMS, Raipur

Sr. No.	Description	Туре	Model Type	Size & Area (Qty.	Unit/R oll	Rate in Rs. Per sq inch	Amount (including tax)
1	SUPPLY, INSTALLATION AND COMMISSIONING OF MAXXGLO / CEASEFIRE INDUSTRIES LTD./ 3 M Brand/ or EQUIVALENT, PHOTO	ABC POWDER	FE 59	200mmx200 mm (8 Inch x 8 Inch)	40000 mm (64 Inch)	1600	sq inch		
2	LUMINESCENT NON- TERABLE Evacuvation emergency & fire safety sinages Which Emits a Clear & Visible Glow when there is Power Failure	CO2	CARRON DIOXIDE	200mmx200 mm (8 Inch x 8 Inch)	40000 mm (64 Inch)	960	sq inch		
3	or Total Darkness. Duration: Long life more than 15 to 20 years healthy atmosphere indoor	FIRE ALARM	Fire alarm	150mmx400 mm (6 Inch x 16 Inch)	60000 mm (96 Inch)	768	sq inch		
4	It is Non-Radioactive, Water- Proof, Explosion-Proof, Corrosion-Proof, Vapour-Proof Fungi static & Fire-Proof A Robust and Durable Self- Adhesive Sheet Which can be Fixed on any surface most	АНИ	A.H.U. Room	150mmx400 mm (6 Inch x 16 Inch)	60000 mm (96 Inch)	768	sq inch		
5	suitable for indoor Signs Luminous Properties Enclosed in Weather Proof UV Stabilized Film, with UV Screen Printing Done using Light fast high qaulity Inks,And	DANGER	DANGER 440 voits W 59	150mmx400 mm (6 Inch x 16 Inch)	60000 mm (96 Inch)	1440	sq inch		

6	clear solvent They are Suitable for Indoor use only. Service Temperature: -20 to +80 Deg.C Surface Colour: Greenish Yellow	FIRE HOSE REEL	FE 8	150mmx400 mm (6 Inch x 16 Inch)	60000 mm (96 Inch)	864	sq inch	
7	Thickness of Rigid Sheet: 1 MM +/- 10%, GLOW Duration: in 1 hours light absorpation, will emit for 8 hours.	DO NOT USE IN CASE OF FIRE	DO NOT use III (III) Use the stairs C 43	450 mmx450 mm (18 Inch x 18 Inch)	202500 mm (324 Inch)	1620	sq inch	
8		EXIT	EXIT	100 mmx 300mm (4 Inch x 12 Inch)	30000 mm (48 Inch)	1296	sq inch	
9		FIRE EXIT	FIRE EXIT	150 mmx 400mm (6 Inch x 16 Inch)	60000 mm (96 Inch)	1536	sq inch	
10		ARROW DIRECTION	D 56	200 mmx 200 mm (8 Inch x 8 Inch)	40000 mm (64 Inch)	4160	sq inch	
11		ARROW DIRECTION	D 57	200 mmx 200 mm (8 Inch x 8 Inch)	40000 mm (64 Inch)	4160	sq inch	
12		PULL TO OPEN	Pull to open D 18	100 mmx 300mm (4 Inch x 12 Inch)	30000 mm (48 Inch)	2688	sq inch	
13		PUSH TO OPEN	Push to open D 19	100 mmx 300mm (4 Inch x 12 Inch)	30000 mm (48 Inch)	2688	sq inch	

14	EMERGEN CY EXIT	D 90	150 mmx 400mm (6Inch x 16 Inch)	60000 mm (96 Inch)	480	sq inch	
15	EMERGEN CY EXIT	D 89	150 mmx 400mm (6Inch x 16 Inch)	60000 mm (96 Inch)	480	sq inch	
16	FOR DISABLED	DT 20	60 mmx 80mm (2.36 Inch x 3.15 Inch)	4800mm (7.43 Inch)	372	sq inch	
17	ON CALL/ NO MOBILE	DT 92	60 mmx 80mm (2.36 Inch x 3.15 Inch)	4800mm (7.43 Inch)	372	sq inch	
18	USE DUST BIN	DT100	60 mmx 80mm (2.36 Inch x 3.15 Inch)	4800mm (7.43 Inch)	372	sq inch	
19	KEEP SHUT	DT 66	60 mmx 80mm (2.36 Inch x 3.15 Inch)	4800mm (7.43 Inch)	372	sq inch	
20	THINK SAFETY	DT 67	60 mmx 80mm (2.36 Inch x 3.15 Inch)	4800mm (7.43 Inch)	372	sq inch	
21	DONT SPIT	E TO	60 mmx 80mm (2.36 Inch x 3.15 Inch)	4800mm (7.43 Inch)	223	sq inch	

22		NO SMOKING	DT 31	60 mmx 80mm (2.36 Inch x 3.15 Inch)	4800mm (7.43 Inch)	372	sq inch			
----	--	---------------	-------	----------------------------------------------	-----------------------	-----	---------	--	--	--

Marking Tapes

Sr. No.	Description	Туре	Model Type	Size	Qty.	Unit/R oll	Rate in Rs. Per Roll	Amount (including tax)
23	SUPPLY, INSTALLATION AND COMMISSIONING OF MAXXGLO / CEASEFIRE INDUSTRIES LTD./ 3 M Brand or EQUIVALENT, PHOTO LUMINESCENT NON- TEARABLE Evacuvation	ARROW DIRECTION TAPE	THE WAY	40mmX10 mtrs	30	10 m Roll		
24	emergency & fire safety marking arrow tape, Which Emits a Clear & Visible Glow when there is powerFailure or Total Darkness Duration: Long life more than 15 to 20 years healthy atmosphere indoor	ARROW DIRECTION TAPE	D	40mmX10 mtrs	85	10 m Roll		

25	It is Non-Radioactive, Water- Proof, Explosion-Proof, Corrosion-Proof, Vapour-Proof Fungi static & Fire-Proof A Robust and Durable Self- Adhesive Sheet Which can be Fixed on any surface most suitable for indoor Signs Luminous Properties Enclosed in Weather Proof UV Stabilized Film, with UV Screen Printing Done using Light fast high qaulity Inks,And clear solvent They are Suitable for Indoor use only. Service Temperature: -20 to +80 Deg.C Surface Colour: Greenish Yellow Thickness of Rigid Sheet: 0.40 MM +, GLOW Duration: in 1 hours light absorption, will emit for 8 hours.	ARROW DIRECTION		40mmX10 mtrs	20	10 m Roll			
----	----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------	--------------------	--	--------------	----	--------------	--	--	--

Total-

Total Amount in Rs	In Words _	
Rate of tax mentioned (if any) –		

(Signature of Contractor)

Superintending Engineer
Project Cell, AIIMS Raipur.